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18HE EFS AT 39 36 75
2 lLE #HFE R HET 38 38 76
3SH B m#EE™ 39 38 77
4 AR #£— R HET 40 38 78
=k B finta™h 39 39 78
6 KiI HE kg™ 42 38 80
A BH& ¥FFHE™ 42 38 80
®wR Ez KREZEM 40 40 80
95K R finta™h 41 40 81
I FE FHEh 40 41 81
$]K E—B3 [MmEEH 39 42 81
falR fi— AREEM 38 43 81
134Mm B AREEM 46 36 82
e IEfE E&m 43 39 82
3 Bx I 43 39 82
Rk B— i 37 45 82
17 Ihith B2z Ml 44 39 83
=5 Al g™ 43 40 83
B E# ke 42 M 83
=z B kg™ 41 42 83
Al IEF fatE™ 41 42 83
L5 B BEHM 40 43 83
F EA MR 39 44 83
i EREE FEH 39 44 83
25 BR% & kBrm 44 40 84
TREF SEf FEH 43 41 84
EW - izhil 42 42 84
A #h BT 41 43 84
29 xR & I\ 45 40 85
=l NS ] 43 42 85
NG #5h LWNg A 43 42 85
EE —= ARM 41 44 85
IBEHR Fh fatE™ 47 39 86
34 {FEE IEF HRM 47 40 87
i #F ARM 45 42 87
B 1EE LN =N 44 43 87
3744k BHEE Fm 46 42 88
INE R/ BaEHm 44 44 88
AL =% FEM 40 48 88
40 /P ECS fiata™h 47 42 89
M A /NN 41 48 89
42 Hp F= Ml 45 45 90
a5H & M 44 46 90
M oA ERM 44 46 90

45 HIE 1§58 I\FHR™ 46 45 91
B Bz BT 42 49 91

47 AL =R kg™ 45 47 92
48 HF Xk FEH 48 45 93
BER ST WETm 45 48 93
Hed JE— finta™h 45 48 93
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AH #EZ JAN: ) 44 49 93
52 T X&E E&m 45 49 94
53 Rk RE FEH 48 47 95
54 thff Hth FEM 45 51 96
55 FBA Bz FEH 52 45 97
il REkE AR 49 48 97
5788/ B finta™h 48 53 101
A BERA Ml 47 54 101
50 A BHME EREW 50 52 102
60 {FEE EZ et 51 52 103
61 ¥AE #BE ERM 50 58 108
RE K% 55— g

RE mik FEA finfaTh
RE BHF #X uistichil
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